
102-Sanskrit (G) 1

Code No. 102
Candidates must write the
Code on the title page of the
answer-book.

¬⁄UËˇÊÊÕË¸ ∑§Ê«U ∑§Ê ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§
◊Èπ-¬Îc∆U ¬⁄U •fl‡ÿ Á‹π¥–

Note / ŸÊ≈U —

(i) Please check that this question paper contains 4 printed pages.

∑Î§¬ÿÊ ¡Ê°ø ∑§⁄U ‹¥ Á∑§ ß‚ ¬˝‡Ÿ-¬òÊ ◊¥  4 ◊ÈÁŒ˝Ã ¬Îc∆U „Ò¥–

(ii) Code number given on the right hand side of the question paper should be written on the title

page of the answer-book by the candidate.

¬˝‡Ÿ-¬òÊ ◊¥ ŒÊÁ„ŸË •Ê⁄U ÁŒ∞ ªÿ ∑§Ê«U Ÿê’⁄U ∑§Ê ¿UÊòÊ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§ ◊Èπ-¬Îc∆U ¬⁄U Á‹π¥–

(iii) Please check that this question paper contains 8 questions.

∑Î§¬ÿÊ ¡Ê°ø ∑§⁄U ‹¥ Á∑§ ß‚ ¬˝‡Ÿ-¬òÊ ◊¥  8 ¬˝‡Ÿ „Ò¥–

(iv) Please write down the Serial Number of the question in the answer-book before

attempting it.

∑Î§¬ÿÊ ¬˝‡Ÿ ∑§ ©ûÊ⁄ Á‹πŸÊ •Ê⁄Uê÷ ∑§⁄UŸ ‚ ¬„‹, ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ¬˝‡ŸÊ¥ ∑§ ∑˝§◊ÊV •fl‡ÿ Á‹π¥–U

Roll No.

⁄UÊ‹ Ÿ¥.

SANSKRIT (G)

‚¥S∑Î§Ã◊˜ (ª)
General Instructions :

‚Ê◊Êãÿ ÁŸŒ¸‡Ê —
Read the following instructions very carefully and strictly follow them.

ÁŸêŸÁ‹ÁπÃ ÁŸŒ¸‡ÊÊ¥ ∑§Ê äÿÊŸ ‚ ¬…∏¥ ∞fl¥ ¬ÍáÊ¸M§¬ ‚ ©Ÿ∑§Ê •ŸÈ¬Ê‹Ÿ ∑§⁄¥U–
Time allowed : 3 hours Maximum marks : 80

ÁŸœÊ¸Á⁄UÃ— ‚◊ÿ —  „Ê⁄UÊòÊÿ◊˜ ¬ÍáÊÊ¸VÊ— 80
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(v) 15 minutes time has been allotted to read this question paper.  The question paper distributed

at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question paper only

and will not write any answer on the answer-book during this period.

ß‚ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏Ÿ ∑§ Á‹∞ 15 Á◊Ÿ≈U ∑§Ê ‚◊ÿ ÁŒÿÊ ªÿÊ „Ò–  ¬˝‡Ÿ-¬òÊ ∑§Ê ÁflÃ⁄UáÊ ¬ÍflÊ¸q ◊¥ 10.15  ’¡

Á∑§ÿÊ ¡ÊÿªÊ–   ¬ÍflÊ¸q ◊¥  10.15 ’¡ ‚ 10.30 ’¡ Ã∑§ ¿UÊòÊ ∑§fl‹ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏¥ª •ÊÒ⁄U ß‚ •flÁœ ∑§

ŒÊÒ⁄UÊŸ fl ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ∑§Êß¸ ©ûÊ⁄U Ÿ„Ë¥ Á‹π¥ª–

(vi) All questions are compulsory.

‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–

(vii) Question No. 1 is an optional question. 5 marks alloted for this.  Choose the correct option.

¬˝‡Ÿ ‚¥ÅÿÊ  1 Áfl∑§À¬Êà◊∑§ ¬˝‡Ÿ „Ò–  ß‚∑§ 5 •V ÁŸœÊ¸Á⁄UÃ „Ò¥–  ‚„Ë Áfl∑§À¬ ∑§Ê øÈŸ¥–

(viii) Question No. 2 carry 10 marks, Q. No. 3 carry 21 marks and Q. No. 4 carry 6 marks.

¬˝‡Ÿ ‚¥ÅÿÊ 2 ∑§ Á‹∞ 10 •V , ¬˝‡Ÿ ‚¥ÅÿÊ  3 ∑§ Á‹∞ 21 •V ÃÕÊ ¬˝‡Ÿ ‚¥ÅÿÊ  4 ∑§ Á‹∞ 6 •V ÁŸœÊ¸Á⁄UÃ

„Ò¥–

(ix) Question No. 5 carry 25 marks, Q.No. 6 carry 6 marks, Q. No. 7 carry 2 marks and Q.No. 8

carry 5 marks.

¬˝‡Ÿ ‚¥ÅÿÊ 5 ∑§ Á‹∞ 25 •V, ¬˝‡Ÿ ‚¥ÅÿÊ  6 ∑§ Á‹∞  6 •V, ¬˝‡Ÿ ‚¥ÅÿÊ  7 ∑§ Á‹∞  2 •V ÃÕÊ

¬˝‡Ÿ ‚¥ÅÿÊ 8 ∑§ Á‹∞  5 •V ÁŸœÊ¸Á⁄UÃ „Ò¥–
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1. •œÊÁ‹ÁπÃÊŸÊ¥ ¬˝‡ŸÊŸÊ◊˜ ©ûÊ⁄UÊÁáÊ Áfl∑§À¬èÿ— ÁøàflÊ Á‹πÃ - (‚fl¸ ¬˝‡ŸÊ—) 1x5=5

(i) ¬Ífl¸ - •èÿÊ‚ - ‚¥ôÊÊÁflœÊÿ∑¥§ ‚ÍòÊ¥ Á∑§◊˜?

(∑§) ¬ÍflÊ̧èÿÊ‚— (π) ©÷ •èÿSÃ◊˜

(ª) •¡ÊŒÁm¸ÃËÿSÿ (ÉÊ) ∞∑§ÊøÊ m ¬˝Õ◊Sÿ

(ii) •œÊÁ‹ÁπÃ·È  ‚ÍòÊ·È ‚ÛÊãÃUSÿ ÿXãÃSÿ ø œÊÃÊ— ÁmàflÁflœÊÿ∑¥§ ‚ÍòÊ¥ Á∑§◊˜?

(∑§) øÁæ§ (π) ‡‹ÊÒ

(ª) ‚ãÿXÊ— (ÉÊ) Á‹Á≈UœÊÃÊ⁄UŸèÿÊ‚Sÿ

(iii) ∞æ§ãÃ-•XSÿ OSflÊãÃ-•XãÃSÿ ø ¬⁄USÿ ‚ê’Èh— „‹Sÿ ‹Ê¬-ÁflœÊÿ∑¥§ ‚ÍòÊ¥ Á∑§◊˜?

(∑§) áÊÊ Ÿ— (π) ∞æ˜§ OSflÊÃ˜  ‚ê’Èh—

(ª) Áfl÷Ê·Ê ‹ËÿÃ— (ÉÊ) ‹Ê¬Ê √ÿÊfl¸Á‹

(iv)  ÿáÊ˜‚ÁãœÁflœÊÿ∑¥§ ‚ÍòÊ¥ Á∑§◊˜?

(∑§) ∞øÊ̆  ÿflÊÿÊfl— (π) flÊãÃÊÁÿ ¬˝àÿÿ

(ª) ß∑§Ê ÿáÊÁø (ÉÊ) ¬ŒÊãÃÊmÊ

(v) ¬⁄UM§¬ - ∞∑§ÊŒ‡ÊÁflœÊÿ∑¥§  ‚ÍòÊ¥ Á∑§◊˜?

(∑§) ∞Áæ§ ¬⁄UM§¬◊˜ (π) •ÊŒ˜ªÈáÊ—

(ª) flÎÁh⁄UÁø (ÉÊ) ∞àÿœàÿÍ∆˜‚È

2. •œÊÁ‹ÁπÃÊŸÊ◊˜ ©ŒÊ„⁄UáÊÊŸÊ¥ ‚◊Ê‚Áflª˝„¥ ∑Î§àflÊ ‚◊Ê‚ÊŸÊ¥ ŸÊ◊ÊÁŸ ø Á‹πÃ - (∑§fl‹¥ ¬@ ¬˝‡ŸÊ—)

(∑§) ‚ø∑˝§◊˜ (π) ŒÍ⁄UÊŒÊªÃ— (ª) ◊„Ê⁄UÊ¡—

(ÉÊ) •’˝ÊrÊáÊ— (ø) •äÿÊà◊◊˜ (¿U) ∑§á∆U∑§Ê‹—–

3. ÁŸêŸÁ‹ÁπÃ‚ÍòÊÊáÊÊ◊˜ •ÕZ S¬c≈ÿÃ - (∑§fl‹¥ ‚åÃ‚ÍòÊÊáÊÊ◊˜) 3x7=21

(i) ŸÊ¬œÊÿÊ— (ii) ÿÈflÊ⁄UŸÊ∑§ÊÒ

(iii) •ÃÊ Á÷‚˜ ∞‚˜ (iv) ßÁŒÃÊ ŸÈ◊˜ œÊÃÊ—

(v) ¡⁄UÊÿÊ ¡⁄U‚ãÿÃ⁄USÿÊ◊˜ (vi) •ÃÊ ŒËÉÊÊ¸ ÿÁÜÊ

(vii) „‹ÊÁŒ— ‡Ê·— (viii)Ÿ ‹Ê¬— ¬˝ÊÁÃ¬ÁŒ∑§ÊãÃSÿ

4. •œÊÁ‹ÁπÃÊŸÊ◊˜ ©ŒÊ„⁄UáÊÊŸÊ¥ ‚ÍòÊÊÁáÊ Á‹πÃ - (∑§fl‹¥ ·≈˜) 1x6=6

(i) ◊ÊÇÿ¸— (ii) Á„Ã◊˜ (iii) √ÿÍ…UÊ⁄US∑§—

(iv) flÊ„Ë∑§— (v) ©¬⁄UÊ¡◊˜ (vi) Äfl

(vii) ¬Ê⁄U‹ÊÒÁ∑§∑§◊˜

2x5=10
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5. •œÊÁ‹ÁπÃ - M§¬ÊáÊÊ¥ ‚ÊœÈàfl¥ / Á‚Áh‚ê¬ÛÊ¥ ÁflœÊÿ Á‹πÃ - (∑§fl‹¥ ¬@ M§¬ÊáÊÊ◊˜) 5x5=25

(i) •¬Ë¬øÃ˜ (ii) •ŒÊÁÿ (iii) ¬È◊ÊŸ˜
(iv) ◊ÊÃÊÁ¬Ã⁄UÊÒ (v) ‚¥S∑§ÃÊ¸ (vi) •¡ÉÊÊ¸—

6. •œÊÁ‹ÁπÃÊŸÊ¥ ‡‹Ê∑§Ê¥‡ÊÊŸÊ¥ ⁄UπÊÁVÃ¬Œ·È ‚Áãœë¿UŒ¥ ÁflœÊÿ ‚ãœŸÊ¸◊ Á‹πÃ - (‚fl¸ ¬˝‡ŸÊ—) 1x6=6

(i) ‚fl¸∑§Êÿ¸Sÿ Á‚Œ˜äÿÕZ ‚¥ªáÊ∑¥§ ‚ŒÊ‡Êÿ—–

(ii) ÷˝c≈ÊøÊ⁄UáÊ ‹Ê∑§ÊŸÊ¥ ‚ã◊ÁÃ— ˇÊËÿÃ ‚ŒÊ–

(iii) •¬Ífl¸— ∑§Ê˘Á¬ ∑§Ê‡ÊÊ˘ÿ¥ ÁfllÃ Ãfl ÷Ê⁄UÁÃ–

(iv) Á∑¥§ Á∑¥§ Ÿ ‚ÊœÿÁÃ ∑§À¬‹Ãfl ÁfllÊ–

(v) Sfl÷Êfl ∞flÒ· ¬⁄UÊ¬∑§ÊÁ⁄UáÊÊ◊˜–

(vi) ‚ÁjÁfl¸flÊŒ¥ ◊ÒòÊË¥ ø ŸÊ‚Áj— Á∑§Á@ŒÊø⁄UÃ˜–

7. •œÊÁ‹ÁπÃÊÁŸ •¬ÍáÊ¸‚ÍòÊÊÁáÊ ◊TÍ·Ê¬˝ŒûÊ‡ÊéŒÒ— ¬ÍáÊÊ¸ÁŸ ∑Î§àflÊ Á‹πÃ -  (∑§fl‹¥ øàflÊ⁄U— ¬˝‡ŸÊ—)    ½x4=2

(i) ŸãŒ˝Ê  ..................................–

(ii) ÃS◊Êë¿U‚Ê ..................................–

(iii) •åàÊÎŸ˜ÃÎø˜Sfl‚ÎŸ#ÎŸc≈Î  ..................................–

(iv) ÁŸ¡Ê¥ òÊÿÊáÊÊ¥ ..................................–

(v) Ÿ ‹Ê¬— ..................................–

(vi) ⁄U·ÊèÿÊ¥ ŸÊáÊ— ..................................–

◊Ü¡Í·Ê

‚◊ÊŸ¬Œ, Ÿ—¬È¥Á‚, ‚¥ÿÊªÊŒÿ—,

àflc≈Î̌ ÊÃÎ-„ÊÃÎ-¬ÊÃÎ-¬˝‡ÊÊSÃÎáÊÊ◊˜,

ªÈáÊ—‡‹ÊÒ, ¬˝ÊÁÃ¬ÁŒ∑§ÊãÃSÿ

8. •œÊÁ‹ÁπÃ·È ‚ÍòÊ·È ∑§fl‹¥ ¬@‚ÍòÊÊáÊÊ◊˜ ©ŒÊ„⁄UáÊÊÁŸ Á‹πÃ -      1x5=5

(i) •ÊÒÃÊ˘◊˜ ‡Ê‚Ê— (ii) ÁŒfl ©Ã (iii) •∑§— ‚fláÊ¸ ŒËÉÊ¸—

(iv) •c≈ŸÊŒËÉÊÊ¸Ã˜ (v) OSflŸÈ«˜UèÿÊ◊˜ ◊ÃÈ¬˜ (vi) ŒËÉÊÊ¸îÊÁ‚ ø

(vii) øÃÈÕË¸ ÃŒÕ¸
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